
  

Mild Task 1 – Answers below 

1. Apples – 4 X 6p = 24p     Sandwiches – 4 X 10p = 40p    Colas – 4 X 9p = 36p 

Peaches – 4 X 7p = 28p   Rolls – 4 X 8p = 32p             Milk drinks – 4 X 5p = 20p 

 

2. Depends on items chosen. Children should multiply the price of each chosen 

item by 4 and add the answers together. 

3. 4 X 10 = 40       4 X 6 = 24       4 X 2 = 8       4 X 3 = 12   

4 X 8 = 32        4 X 0 = 0          4 x 4  = 16 

 

4. 4 X 5 = 20         4 X 7 = 28        4 X 9 = 36 
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